3

3 3 3 3 -03
11.93 1201 1224 12.38 12.64 12.82
2 2 2 2 2 2 0.0
12.64 12.90 1295 13.05 1321 13.35
3 3 3 3 3 3 14
24.05 24.21 25.18 26.11 26.31 27.29
3 3 3 2 3 3
55.67 56.07 56.64 59.48 60.29 67.53
3 3 3 3 2 2
2.08.87 2.09.03 2.12.08 2.18.29 2.19.07 2.20.12
2 3 3 2 3 2
4.22.74 4.31.01 4.32.02 4.43.54 4.55.10 5.01.83
3 2 3 3 2 1
9.06.71 9.22.99 10.03.64 10.09.52 11.07.18 11.16.64
3 3 2 2 3 3 0.0
16.61 18.00 19.42 19.67 20.23 21.19
3 33 3 3 3 3 2 3 2 3 2 3
47.04 48.80 52.52 54.46
3 3 3 3 2 2
1.66 1.63 1.48 1.40 140 135
3 3 3 3 3 3
5.96(-0.1) 5.83(-0.5) 5.60(+0.0) 5.23(+0.0) 5.05(+0.0) 4.95(-0.4)
2 2 2 2 2 2
5.74(+0.2) 5.30(+0.0) 5.09(-0.3) 5.00(-0.7) 4.45(-0.3) 4.14(-0.1)
3 3 3 3 2 3
9.76 8.35 8.34 7.82 .77 7.75
3 3 3 OPEN 3
14484 16.19.83 19.6.77 16.45.57
1 1 1 1 1 1 0.0
12.83 13.74 13.79 14.08 14.42 1475




F63EM AL ARt PR E LR AS
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[ K # [ K # [ K # [ K # [ K # [ K #
B B B B B B
fiI iC % iz iC % iz iC % iz iC % iz iC % iz 50 &%
ME BEB RE T8 WA EiE & =EE FARAEH # =8 B A
#3E100m 1 1% B A=Y 2 i B 3 3 b= & 4 fi AdkEs 5 i BRI 6 fiI A s -0.6
12.99 (12.83)x2%| 13.68 13.91 14.36 14.42 15.09
T EEAET =l Es$E BH BE ATE FFMA A X7 B B A
EZ4£100m | 1 i B2 2 fi I E[A=Y) 3 i A #2 4 fif F/R2 5 {i A2 6 fi mAdE&2 0.0
13.78 13.82 13.95 14.14 14.30 14.34
ME B ELS eI T & ATE FFMA MRmMLE A EB A h
H#E200m 1 i adeE2 2 i B2 3 i N3 4 fif F/5R2 5 i AdkEs 6 fi A 3 10
26.87 28.62 29.45 30.31 30.66 30.73
=l Es$E BE EE a0 =K 1FH BE ItH E& e #S
H#E800m 1 i AdeE2 2 i 2 1B 3 i 22 4 fif = 3 5 fi R B2 6 i AdE &2
2.19.39 2.24.67 2.30.99 2.33.03 2.34.20 2.34.64
-+ A Ex B E#& R BE 28 BE BN BEx MABSR
HBE1500m | 1 4L E 13 2 fia N2 3 i = M3 4 i b= X 5 i BRI 6 i AdkEs
5.00.55 5.09.30 5.11.09 5.13.74 5.15.71 5.17.00
ML BT H =R+ H HBR HFRMYVA MRmMLE EH I$ B A
H#HFE100mH | 1 L AdE &3 2 i N2 3 i b= & 4 fif B2 5 i AL &S 6 fiI FEWERES 0.0
17.53 17.57 18.37 18.38 18.83 19.54
* & S 3 E2EEM2S 2 Feh2E T2 mE 2RI {71 ¥)1138% B 2E A 24 A3 Kreh2E 2R A &3 BHITNIBARIFH2 LA 2 I 2 % P 2T 2
4%x100mR | 1 fiI AdkE 2 fif AR 3 fu b= ] 4 fi =N 5 i A 6 fiI F/R
52.83 55.02 55.03 56.14 56.34 56.65
@D E@ &S EAIEED AT # =8 g B/ EZWHER
HEBEES B 1 1 BRI 2 fif b= 7 3 13 4 fi A s 5 {u = 2 6 fiI AlEAs
1.33 1.33 1.25 1.25 1.20 1.15
IH FHE WA E#E MmA EB Kfg f£&= EH BE ml =/
HBEENZB 1 fi AL &S 2 i b= & 3 i I X] 4 fi = 3 5 {u FOE[A=R) 6 fi bR ]
4.77(+0.3) 4.65(+0.3) 4.42(+0.1) 4.36(+0.6) 4.16(+0.3) 3.98(+0.4)
BEZEE ELRED HEH X5 BH BE HE YE e F&F BEH TR
FENE Bk 1 i = 2 2 fiI A 2 3 fi A 2 4 fiI B2 5 {u B2 6 i A& 2
4.8(-0.6) 4.68(+0.9) 4.54(+0.1) 4.49(-0.5) 4.41(+0.4) 4.34(+0.0)
=0 MIE IR RE % RERER & =EE & e EH BEK
HBErah % 1 fi FEEREI2 2 2 X] 3 i F/52 4 fi AL &3 5 i = W2 6 fi F/R2
8.42 8.05 7.74 75 7.3 7.15
* & ETEEF I T30 R NS
3000mW 1 1 FEERE3 2 fif b= R 3 i BRI 4 fi 5 fif 6 fiI
17.47.03 19.09.08 19.10.86
HE BE FE Ex= THE B A FrE gk FE =H FK B A
14£100m 1 1 FEER 2 fif BRI 3 fiI = 4 fi Adk &t 5 {i AdkEt 6 fiI =N 0.7
14.74 14.94 15.21 15.58 16.16 16.17
([ iva R4 ([ iva P4 (=2 P4 (=2 P4 (=2 R4 [t R4
B = 7 = B = B = B = B =
BF 11iz SRR 241 A 313 L A3 F/R 541 ks 6131 =20
87 83 56 38 12 7
ZF 11az AdkE 241 A 343 L A3 SRR 5431 =20 613z F/R
64 50 46 41 29 12
[N} 115z A 231 SRR 313 L A3 Ak s 5431 F/R 613z SN
133 128 102 76 50 36




